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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2018 

 

Subject Name: Circuits & Networks  
 

Subject Code: 2TE03CNW1   Branch: Diploma (EC) 

    

Semester: 3      Date: 06/12/2018        Time: 02:30 To 05:30        Marks: 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 

 
Q-1  Attempt the following questions (14)  

 a) How many types of networks are available?  
A) 3 B) 4 C) 5 D) 6 

 b) Which one is bilateral network?  
A) Transmission line B) Amplifier C) Rectifier D) None 

 c) Which one is unilateral network?  
A) Amplifier B) Rectifier C)  Transmission line D)  A and B 

 d) How many types of network impedances are available?  
A) 4 B) 6 C) 5 D) 3 

 e) Ohm’s law is not applicable to _______  
A) DC circuits B) High Currents C) Small resistors D) Semiconductors 

 f) KCL is applied at _____  
A) Loops B) Nodes C) A and B D) None 

 g) KVL is applied at _________  
A) Nodes B) Loops C) A and B D) None 

 h) If two resistors of value 2R are connected in series, then total resistance is ________  
A) 2R B) R/2 C) 4R D) None 

 i) If the V-I characteristics is a straight line through the origin, then the circuit element is said to be   
A) Non-linear B) Unilateral C) Linear D) Bilateral 

 j) If two resistors of value 2R are connected in parallel, then total resistance is _____  
A) R B) R/2 C) 2R D) None 

 k) Which one of circuit element is not passive element?  
A) Resistor B) Capacitor C) Voltage source D) None 

 l) Which one of circuit element is not active element?  
A)  Current source B)  Voltage source C) Inductor D)None 

 m) Which one of circuit element is Unilateral element?  
A) Diode B) Inductor C) Capacitor D) None 

 n) Which one of circuit element is Bilateral element?  
A) Inductor B) Capacitor C) Diode D) A and B 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) State the different types of network impedances. Explain each of them in brief.  06 

 (b) Resistor of 20, 20 and 40 ohms are connected in series with 80Vdc supply. Find 

out the equivalent resistance, current and voltage drop across each resistor.  
06 

 (c) State Superposition’s theorem. 02 



Page 2 of 4 

 

Q-3  Attempt all questions (14) 

 (a) Derive the equations for T to 𝜋 and π to T network transformation. 07 

 (b) State and prove Maximum transfer theorem.  07 

Q-4  Attempt all questions (14) 

 (a) State and prove Norton’s theorem.  06 

 (b) Explain in detail with examples KCL and KVL laws. 05 

 (c) Define the terms: 1. Mesh 2. Node 3. Branch. 03 

Q-5  Attempt all questions (14) 

 (a) What do you mean resonance w.r.to RLC series circuit? Obtain the expression of 

resonance frequency in series RLC circuit. Derive the relation between Q-factor 

and bandwidth in series RLC circuit. 

07 

 (b) An RLC series circuit with resistance of 25Ω is required to resonate at 100 Hz. 

The bandwidth is required to be 60 Hz. Determine the values of L, C, Q-factor, 

upper cut-off and lower cut-off frequencies. 

07 

Q-6  Attempt all questions (14) 

 (a) Explain single and double tuned air core transformer used in tuned circuits with 

the help of necessary derivation. State one the application of them. 
09 

 (b) Derive the equation for characteristic impedance of T-network in terms of Zoc 

and Zsc. 
05 

Q-7  Attempt all questions (14) 

 (a) Explain in detail symmetrical π-type attenuator with necessary derivations. 06 

 (b) A symmetrical π-type attenuator has series arm resistance of 300 Ω and shunt 

arm resistance of 500Ω.Detrmine the characteristic impedance and attenuation. 
08 

Q-8  Attempt all questions (14) 

 (a) Where equalizer is connected in network? Draw the chart for classification of 

equalizers and explain in detail series equalizer with derivation of equations. 
07 

 (b) Classify the filters on various bases. Which characteristics are posses by an ideal 

filter? Explain in brief with diagram various filters which classify on the basis of 

frequency characteristics. 

07 
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Q-1  Attempt the following questions (14)  

 a) કેટરા પ્રકાયનાાં નેટલર્કવસ ઉ઩રબ્ધ છે?  

એ) 3  ફી) ૪ વી) ૫ ડી) ૬ 

 b) ફામરેટ્રર નેટલકસ  કમો છે?  

એ) ટ્રાન્વમભળન રાઈન ફી) એભપ્લરપામય વી) યેકટટપામય ડી) કોઈ નશી  

 c) યનૂીરેટ્રર નેટલકસ  કમો છે?  

એ) એભપ્લરપામય ફી) યેકટટપામય વી) ટ્રાન્વમભળન રાઈન ડી) એ એન ફી 
 d) કેટરા પ્રકાયનાાં નેટલકસ  ઈંમ્઩ીડ્નન્વ ઉ઩રબ્ધ છે?  

એ) ૪  ફી) ૬ વી) ૫ ડી) 3 

 e) ઓહ્મનો કામદો ______ ઩ય રાગ ુનથી  

એ) ડીવી વયકીટ્વ ફી) શામ કયાંટ્વ વી) નાના યેજજસ્ટવસ ડી)વેભીકાંડર્કટવસ  
 f) KCL _____ ઩ય રાગ ુથામ છે  

એ) લલુવ ફી) નોડ્નવ વી) એ એન ફી ડી) કોઈ નશી 
 g) KVL _____ ઩ય રાગ ુથામ છે  

એ) નોડ્નવ ફી) લલુવ વી) એ એન ફી ડી) કોઈ નશી 
 h) જો મલૂ્મ 2R ના ફે યેજજસ્ટવસ શે્રણીભાાં જોડામેરા શોમ, તો કુર યેજજસ્ટન્વ ________ છે  

એ) 2R  ફી) R/2  વી) 4R   ડી) કોઈ નશી 
 i) જો V-I રાક્ષણણકતાઓ ઓટયજીનભાાંથી વીધી યેખા છે, તો ઩છી વટકિટ એણરભેંટ્વ____શોલાનુાં કશલેામ છે  

એ) નોનણરનીમય ફી) યનૂીરેટ્રર વી) ણરનીમય ડી) ફામરેટ્રર 

 j) જો મલૂ્મ 2R ના ફે યેજજસ્ટવસ વભાાંતય જોડામેરા શોમ, તો કુર યેજજસ્ટન્વ ________ છે  

એ) R ફી) R/2 વી) 2R ડી) કોઈ નશી 
 k) વટકિટ એણરભેંટ્વભાાંથી કમો એક ઩ેવીલ એણરભેંટ નથી?  

એ) યેજજસ્ટય ફી) કે઩ેવીટય વી) લોલ્ટેજ વોવસ ડી) કોઈ નશી 
 l) વટકિટ એણરભેંટ્વભાાંથી કમો એક એકટીલ એણરભેંટ નથી?  

એ) કયાંટ વોવસ ફી) લોલ્ટેજ વોવસ વી) ઇન્ડર્કટય ડી) કોઈ નશી 
 m) ક્યો વટકિટ એણરભેંટ યનૂીરેટ્રર એણરભેંટ છે?  

એ) ડામોડ ફી) ઇન્ડર્કટય  વી) કે઩ેવીટય ડી) કોઈ નશી 
 n) ક્યો વટકિટ એણરભેંટ ફામરેટ્રર એણરભેંટ છે?  

એ) ઇન્ડર્કટય ફી) કે઩ેવીટય વી) ડામોડ ડી) એ એન ફી 
Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) નેટલકસ  ઇં઩ીડાંમવવનાાં જુદાાંજુદાાં પ્રકાય કશો. ટૂાંકભાાં દયેકને વભજાલો. 06 

 (b) ૨૦, ૨૦ અને ૪૦ ઓશભના અલયોધને ૮૦ લોલ્ટના વલરામ વાથે શે્રણીભાાં રગાડેર છે. વભતલુ્મ 

અલયોધ, કયાંટ અને દયેક અલયોધનાાં લૉલ્ટેજ ળોધો. 
06 

 (c) સ઩ુય઩ોજજળન થીમયભ કશો. 02 

Q-3  Attempt all questions (14) 

 (a) T થી π અને π થી T ભાટે નેટલકસ  ઩ટયલતસનનાાં વભીકયણો ભે઱લો. 07 

 (b) ભેણક્ષભભ ઩ાલય ટ્રાન્વપય થીમયભ કશો અને વાણફત કયો. 07 
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Q-4  Attempt all questions (14) 

 (a) નોયટોન્વ થીમયભ કશો અને વાણફત કયો. 06 

 (b) KCL અને KVL મનમભો દાખરાઓ વાથે વભજાલો. 05 

 (c) વ્માખ્મામમત કયો     ૧. ભે઴   ૨. નોડ   ૩. બ્રાન્ચ. 03 

Q-5  Attempt all questions (14) 

 (a) RLC શે્રણી વટકિટનાાં વાંદબસભાાં યેઝોનન્વ શુાં છે? RLC શે્રણી વટકિટનુાં યેઝોનન્વ ટિર્કલન્વીનુાં વભીકયણ 

ભે઱લો. RLC શે્રણી વટકિટભાાં Q-પેર્કટય અને ફેન્ડમલડ્નથ લચ્ચેનો વાંફાંધ પ્રસ્થામ઩ત કયો. 
07 

 (b) 25Ω નાાં યેજજસ્ટન્વ વાથે એક RLC શે્રણી વટકિટ 100Hz ઩ય યેઝોનેટ કયલાની જરૂય છે. ફેન્ડમલડ્નથ 60Hz 

ની જરૂય છે. L, C, Q-પેર્કટય, Lower Cut-off અને Higher Cut-off ટિર્કલન્વીનાાં મલૂ્મો ળોધો. 
07 

Q-6  Attempt all questions (14) 

 (a) જરૂયી ડેટયલેળનની ભદદથી ટયનુલા઱ા વટકિટ્વભાાં લ઩યાતા મવિંગર અને ડફર ટયનુ્ડ એય કોય 

ટ્રાન્વપોભસયને વભજાલો. તેઓની ગભે તે એક ઉ઩મોણગતા કશો. 
09 

 (b) Zoc અને Zsc નાાં વાંદબસભાાં T-નેટલકસના રાક્ષણણક ઈંમ્઩ીડ્નન્વ ભાટેના વભીકયણને ભે઱લો. 05 

Q-7  Attempt all questions (14) 

 (a) જરૂયી ડેટયલેળન્વની ભદદથી π-પ્રકાયનુાં એટેન્યએુટય મલસ્તાયપલૂસક વભજાલો. 06 

 (b) એક π-પ્રકાયનાાં એટેન્યએુટયને ૩૦૦ Ω નો શે્રણી યેજજસ્ટ્ન્વ અને ૫૦૦ Ω નો વભાાંતય યેજજસ્ટ્ન્વ છે. 

રાક્ષણણક ઈંમ્઩ીડ્નન્વ અને એટેન્યએુવન્વ ભે઱લો. 
08 

Q-8  Attempt all questions (14) 

 (a) નેટલકસભાાં ઇર્કલારાઈજયને ક્યાાં જોડલાભાાં આલે છે? ઇર્કલારાઈજયનાાં લગીકયણનો ચાટસ  દોયો અને શે્રણી 
ઇર્કલારાઈજયને વભીકયણો ભે઱લીને મલસ્તાયપલૂસક વભજાલો.  

07 

 (b) ટપલ્ટયને જુદાાં જુદાાં આધાયો લડે લગીકૃત કયો. આદળસ ટપરટય ઩ાવે કઈ રાક્ષણણકતાઓ છે? ટિર્કલન્વી 
રાક્ષણણકતાનાાં આધાયે લગીકૃત કયેર જુદાાં જુદાાં ટપલ્ટયને ડામગ્રાભ વાથે ટુાંકભાાં વભજાલો. 

07 

 

 

 


